
1. What were Luisa and Jackson doing?

2. Who were Mike and Peter?

3. Was Jackson working with Peter in a big company?

4. How long were Mike and Jackson working together?

5. How long ago were Luisa and Peter working together?

6. Were they on vacation to Puerto Rico?

7. What were they doing last night?

8. How long were they talking / speaking about their vacation?

9. What was Luisa doing?

10. Was everybody / everyone sad?

Si estás desde dispositivo movil puedes ver los resultados en la hoja "Resultados" - Pág 2
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Read the following text and answer the questions below.

He’s Jackson. Yesterday, he and his sister Luisa were visiting their friends Mike and Peter.
Mike was working with Jackson in a big company for 7 years, and Luisa was working with
Peter since last year. A year ago, they were on vacation in Costa Rica.
Last night, they were drinking wine while talking / speaking about their vacation for almost
8 hours. Luisa was showing them the photos while they remembered those moments in
that country. Everybody / Everyone was happy.

https://www.pacho8a.com/ingl%C3%A9s/curso-ingl%C3%A9s-nivel-b%C3%A1sico/lecci%C3%B3n-47/
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https://apps.apple.com/us/app/ingles-facil/id1492827096


1. What were Luisa and Jackson doing?

2. Who were Mike and Peter?

3. Was Jackson working with Peter in a big company?

4. How long were Mike and Jackson working together?

5. How long ago were Luisa and Peter working together?

6. Were they on vacation to Puerto Rico?

7. What were they doing last night?

8. How long were they talking / speaking about their vacation?

9. What was Luisa doing?

10. Was everybody / everyone sad?
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They were drinking wine while talking / speaking about their vacation in Costa Rica.

No, everybody / everyone was happy. / No, because everybody /everyone was happy.
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They were visiting their friends Mike and Peter.

No, they weren’t / no, they were not / no, because Jackson was working with

Mike. (esta pregunta puede tener diferentes alternativas de respuesta).

Read the following text and answer the questions below.

They were working together for 7 years.

No, they were not / no, they weren’t / no, because they were on vacation in Costa Rica (esta 

pregunta puede tener diferentes alternativas de respuesta).

They were working together since last year.

They were talking / speaking for almost 8 hours.

She was showing them the photos. / Luisa was showing them the photos.

They were Jackson and Luisa’s friends / they were the friends of Jackson and Luisa.

He’s Jackson. Yesterday, he and his sister Luisa were visiting their friends Mike and Peter.
Mike was working with Jackson in a big company for 7 years, and Luisa was working with
Peter since last year. A year ago, they were on vacation in Costa Rica.
Last night, they were drinking wine while talking / speaking about their vacation for almost
8 hours. Luisa was showing them the photos while they remembered those moments in
that country. Everybody / Everyone was happy.

https://www.pacho8a.com/ingl%C3%A9s/curso-ingl%C3%A9s-nivel-b%C3%A1sico/lecci%C3%B3n-47/
https://www.youtube.com/watch?v=Cq_9hh42PgE
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https://www.instagram.com/pacho8a/
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